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Würfel

Name:

Mittelstufe

Aufgabe 1
	 	 Welcher	Würfel	stimmt	mit	dem	
	 	 oberen	Würfel	überein?	
  a),	b),	c)	oder	d)?	Kreuze	die	richtige		
	 	 Antwort	an.

Aufgabe 2
	 	 Schneide	das	Würfelnetz	aus	und		
	 	 klebe	die	Bilder	so	auf,	dass	sie	
	 	 die	gleiche	Position	wie	bei	der		 	
	 	 Aufgabe	1	haben.	

a)																																												b)																																													c)																																												d)
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Lösung

Aufgabe 1
	 	

Aufgabe 2
	 	

a)																																												b)																																													c)																																												d)✗


